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M.Sc. DEGREE EXAMINATION, APRIL 2016
I YEAR — II SEMESTER

Non-Major Elective I — QUANTITATIVE APTITUDE
Time : 3 hours 
    Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions
1. Find the value of (475*475+125*125).
2. Find the largest number which divides 62,132 and 237 to leave the same remainder in each case.

3. Find the missing figure  ?% of 25= 2.125.

4. Evaluate 28% of 450+45% of 280.

5. Worker A takes  8 hrs to do a job,  worker  B takes 10 hrs to do the same job. How long should it take for both A and B working together but independently to do the same job?
6. A can do a certain job in 12 days. B is 60% more efficient than A.  How many days does B alone take to do the same job?

7. A cyclist covers a distance of 750m in 2 min 30 secs. What is the speed km/hr of the cyclist?

8. Write the formula for speed and time.

9. What are the uses of Tabulator?

10. Write notes on Tabulator.

11. A car moves at the speed of 80km/hr. What is the speed of the car in meters per second?
12. Find 1396*1396.
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions
13. Find the total number of prime factors in the product (411×75×112 )

14. Find the selling price when the cost price is ` 56.25 and gain is 20%

15. A and B together can complete a piece of work in 4 days. If A alone can complete the same work in 12 days, in how many days can B alone complete the work.

16. Walking at 5/6 of its usual speed, a train is 10 min too late. Find its usual time to cover the journey.

17. The following table gives the percentage distribution of population of five states P,Q,R and T on the basis of poverty line and also on the basis of gender. Study the table and answer the questions based on it.

	State
	Percentage of Population below poverty line
	Proportion of Males and Females

	
	
	Below poverty line
	Above poverty line

	
	
	M  :  F
	M :  F

	P
	35
	5  :  6
	6  :  7

	Q
	25
	3  :  5
	4  :  5

	R
	24
	1  :  2
	2  :  3

	S
	19
	3  :  2
	4  :  3

	T
	15
	5  :  3
	3 :  2


(i) What will be the number of females above poverty line in the state S if it is known that the population of state S is 7 million?
(ii) If the male population above poverty line for state R is 1.9 million then what is the total population of state R?

18. Monika purchased a pressure cooker at 9/10th of its selling rice and sold it at 8% more than its selling price. Find her gain percentage.
19. A is twice as good as good a workman as B and together they finish a piece of work in 18 days. In how many days will A alone finish the work?
SECTION C — (3 × 10 = 30 marks)

Answer any THREE questions
20. Find the value of (6+15+24+33+…..+105)
21. A book was sold for  ` 27.50 with a profit of 10%. If it were sold for ` 25.75 then what would have been the percentage of profit or loss?
22. A and B can do a piece of work in 18 days, B and C can do it in 24 days, A and C can do it in 36 days. In how many days will A,B and C finish it working together separately.
23. While covering a distance of 24km, a man noticed that after walking for 1 hour and 40 mins the distance covered by him was 5/7 of the remaining distance. What was his speed in meters per second?
24. Classification of 100 students based on the marks obtained by them in Physics and Chemistry in an examination.
	Marks out of 50
	40 and above
	30 and above
	20 and above
	10 and above
	0 and above

	Subject
	
	
	
	
	

	Physics
	9
	32
	80
	92
	100

	Chemistry
	4
	21
	66
	81
	100

	(Aggregate)

Average
	7
	27
	73
	87
	100


(i) What is the number of students scoring less than 40% marks in aggregate?

(ii) If at least 60% marks in Physics are required for purchasing higher studies in Physics, how many students will be eligible to pursue higher studies in Physics?

(iii) What is the difference between the number of students passed with 30 as cut-off marks in Chemistry and those passed with 30 as cut-off marks in aggregate?

(iv) What is the percentage of the number of students getting at least 60% marks in Chemistry over those getting at least 40% marks in aggregate approximately?
(v) If it is known that at least 23 students were eligible for a symposium on Chemistry, What would be the range of the minimum qualifying marks in Chemistry for eligibility to symposium? 
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